[RAl=ET]
NHERRE R RE
TRSOEIE N THRB OMEICH ) B, BT~ O R OB

491, 000 +M

(BfHr:FH)
= i | HIERT THIEZE HIE#R
BRI SR G 67, 119, 000 491, 000 67, 610, 000
(N
Ml A (R k4 ) 491, 000
(% HH)
B XIS ~DERS 491, 000
N BEEERESEERINSEH 0+H

H T BB D < UG A SRR BB ~ DN &I DWW T BUE I & 72 5 PS04
e L FERB oA % Rl 72 2 S KV MBEICARRBE L D AR L e o Tzl ARG #IB

% & &b, BRI NMEE O LAY b R Z AT 5 5 O

(Bfi:FH)
£ 18 48 1E BT FHIEZE HIER
ANV B B e SRR AN E 13, 457, 000 0] 13,457,000
(% H)
- BRI B 230 D NEE A 812

- M5O S R G R A A £ 812




